PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED

REV| ECR DESCRIPTION DATE BY
A 2411 |Production Release 2/25/19 | BLS
14 115300-023DWG| Assy, Kit, Plumbing, 2-3 Sec Planter 1 1
13 N15300-019DWG | Assy, Kit, Plumbing, 1 Sec Planter 2" 1
12 115300-014DWG |Assy, Kit, Plumbing, 2-3 Sec Planter 2"| 1
11 115300-050 |Installation Kit, (Zip Ties) 1
10 | 620138-001 |Nut, Hex, Flange, 3/8-16 UNC 4
9 713501-403 |Bolt, 3/8-16 UNC x 1" 4
8 710100-532 |U-Bolt, Sq, 3/8" x 2.5" x 6" SS 1
7 710100-524 |U-Bolt, Sq, 3/8" x 2" x 3" 2
6 625030-001 |Bracket, Riser Tube, 36" 1
5 620135-001 |Bracket, Enclosure Mounting 3
4 118640-108 |Bracket, Mounting, Universal 2
3 | 115205-010 |Accessory Cable, 1ft SeedSquirter 1
2 115206-004 | Assy, Antenna GPS 5Hz 1
1 116301-011 |Kit, Sensor, Pressure, 100 PSI 1
Item| Part Number Description Qty
Ca pstanAG
sem [ BLS (22519 Kit, Planter,

Checked

QA APP

SeedSquirter, High Speed

A 115400-005

REV

A

SCALE:

None

SHEET 1 of 1




	Sheet1

